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Test Syllabus: Unit # 3 (Variations)
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NOTE: Four possible answers A, B, C and D to each question are given. The choice which you think is correct, fill that circle
in front of that Question with Marker or Pen ink. Cutting or filling two or more circles will result in zero mark in that

question.8
Value of x in proportion 15:7::x:56 is: § Gl Sx uxl5:7:0x:56 s | 1]
8/ 15 (D) 15/8 ©) 100 (;3 120 (A)
What will be the value of x for the equation L3P (x=5)7 4
( +3)z_( _5)2 4 il S X g‘lé(x )2 (x )2=_? il e
X X _T9 (x+3) +(x—5) -2
(x+3)2+(.x_5)2 5 9‘;}?’\:\5
x=39 (D) x=-3-9 (©) x=13 (;3 x=19 (A)
If a_c then componando theorem is ___. - = Cond S ) G g a_c By 3
b d b d
a-b c—d (D) ﬂ—l © a ¢ (B) a ¢ @A)
b d bc a-b c—-d a+b c+d
If a: b =x:y then by alternendo theorem s dyl B atb=x:y S| 4
a-b x-y (D) a+b x+y (C) a x (B) a b
b y b y by y
Fourth proportional winx :y ::v:wis: =W el gmXiyiiviw -5
X v X
= (D) = (©) xyv (B) = (A)
% X vy
www.taleemidunya.com
The relation between two same quantities is o= S e BlaS Jle 3 S s )le a2 6
called. )
Difference &2 (D) Division awss © Ratio < (;3 Proportion «—ii | (A)
, 1 T
If y° oc — then....... iy oo — K|
X X
2 k 2 1 2 2 2 3
=3 (D) =3 © y =x (B) Y =kx (A)
Types of proportion are ___. o bl Sl | .8
5 [ D) ] 4 © | 3 [ ®) | 2 (A)

2. Answer the following Question:

2x7=14) : e clilga paida S N g B3 g a2
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(@

Define Proportion.

- S iy et (Sl

@

(i)

4a+5b 4c+5d

If a:b=c:d then prove that =
4a—-5b 4c—-5d

SuAal g wgib=c:d N
4a+5b  4c+5d
4a-5b 4c-5d

(ii)

(iii)

Find a 3rd proportional to (x2 -y’ ), (x + y)

(x2 —yz),(X+ ¥)-0iS o sl anliia | juas

(iii)

(iv) | Find mean proportional between 20,45. 20,45-n S pstre uiilll Aoy | (i)
(v) | Define direct proportion. -0 S S (Sl i | (v)
(vi) | Find the value of x. 8—x:11—x:16—x:25—x 8—x:11—x:16—x:25— x-S pslre G Sx | (Vi)
(vii) If yoc x ,and y=7 when x=3 then find x when yosly=35 S 5 s x=3 < y=7 Ll s yoc x S | (vii)

y=35 and also find y when x=18.

- =S o glaax=18. S
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Note: Attempt the question in detail.

(4+4= 8) - ¢ g (i 1S Jl g J3d g 0 1019

Q:3 (a) Solve by componendo dividendo theorem of

\/x2+2+\/x2—2 s
\/x2+2—\/x2—2

S da wdeall s il ()3 il g

\/x2+2+\/x2—2 _

)
I +2 - =2

X

(b) Find the fourth proportional to
P’+a’.p’ -4’0’ - pa+q’

P +q’. P =7, PP — pg+q’ oS et i lgin ()
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